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Topic:- General Knowledge

1)
Question ID :- (Question ID = 51640 )
Question Description :- HP12 GENERAL KNOWLEDGE_SET1Q15

Question Stimulus :-

Lee Hsien Loong is the present Prime Minister of — / ot 1€ ?fT o d 9 g ¢ & ada=
wT= w87

(Option ID = 146422 )
South Korea laﬁl'UTﬂﬁﬁTﬂ
(Option ID = 146423 )
Philippines / ftreidia
(Option ID = 146424 )
Thailand / 4TSAS

(Option ID = 146425 )

None of these Isqff I aﬁé%"r

Option ID :-0Correct Answer :-(Option ID = 146425 ) None of these I?F-Iﬁ | ﬂﬁé el

2)
Question ID :- (Question ID = 51634 )
Question Description :- HP12 GENERAL KNOWLEDGE_SET1Q9
Question Stimulus :-
The Malwa Plateau lies to the north of - / ATadT TR 9 # ¥ fras 3w fezm o fRa 82
« (Option ID = 146398 )
Vindhya Range / fo=araa uda et
e (Option ID = 146399 )
Satpura Range / ddysT qdd et
e (Option ID = 146400 )
Jhabua Hills / T3 dd

« (Option ID = 146401 )
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Bundelkhand Plateau/ §<aEUS $T USSR
Option ID :-0Correct Answer :-(Option ID = 146398 ) Vindhya Range / fa=araa uda m
3)
Question ID :- (Question ID = 51626 )
Question Description :- HP12_ GENERAL KNOWLEDGE_SET1Q1
Question Stimulus :-

The Karera Wildlife Sanctuary was formed to protect which of the following bird species? /

DR NG IRVG Bt RITYAT 9 7 F for yonfa & vl & wveror & forg ot wit A2
e (Option ID = 146366 )
Indian Paradise Flycatcher / gURTS
e (Option ID = 146367 )
Great Indian Bustard l@?ﬁ ﬁl’%‘qT
e (Option ID = 146368 )
Bulbul / geiqet
e (Option ID = 146369 )
Indian Roller / e & ueh

Option ID :-0Correct Answer :-(Option ID = 146367 ) Great Indian Bustard / '\‘hﬁ ﬁl’%’qT
4)

Question ID :- (Question ID = 51633 )

Question Description :- HP12_ GENERAL KNOWLEDGE_SET1Q8

Question Stimulus :-

Which of the following kind of soil is generally found in Southern Bundelkhand region? /

<femlt goaavs & # wrurvE: Frafafad # @ 59 R @ g urdt ordt 372

(Option ID = 146394 )

Red Soil / a1 firgt

(Option ID = 146395 )

Black Soil / &Tell firgt

(Option ID = 146396 )

Alluvial Soil / Selte figt

(Option ID = 146397 )
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Laterite Soil /ﬁ%ﬂs‘z ﬁlﬁ

Option ID :-0Correct Answer :-(Option ID = 146395 ) Black Soil / ®Teil firg!
S)

Question ID :- (Question ID = 51627 )

Question Description :- HP12_ GENERAL KNOWLEDGE_SET1Q2
Question Stimulus :-

When did Madhya Pradesh introduce Gender Budgeting? / Y U= A gauyH T smenfya

ToIC BT IRGAHR0T Hd far?
e (Option ID = 146370 )
2005
e (Option ID = 146371)
2006
e (Option ID =146372)
2007
e (Option ID = 146373 )
2008
Option ID :-0Correct Answer :-(Option ID = 146372 ) 2007
6)
Question ID :- (Question ID = 51635)
Question Description :- HP12_ GENERAL KNOWLEDGE_SET1Q10
Question Stimulus :-

What is the minimum age for being an applicant under the Mukhyamantri Yuva Swarozgar

Yojana? / HRBTHA AT WRISAIR TIHT | 3Tded 811 &1 gAaH g feat 872
« (Option ID = 146402 )
18
e (Option ID = 146403)
20
« (Option ID = 146404 )
21
« (Option ID = 146405 )

23
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Option ID :-0Correct Answer :-(Option ID = 146402 ) 18

7)

Question ID :- (Question ID = 51638 )

Question Description :- HP12 GENERAL KNOWLEDGE SET1Q13

Question Stimulus :-

Surya Kiran is the joint military exercise between India and — / HRRd a1 eld é’f A frafafaa #@
¥ frw 31 & a1y~ g foeor » e Sgad 99 o fhar?

e (Option ID = 146414 )
Bangladesh / STATGRT
e (Option ID = 146415)
Nepal | AUt
e (Option ID = 146416 )
Sri Lanka / 8} @1
e (Option ID = 146417 )
Myanmar / ®IHR
Option ID :-0Correct Answer :-(Option ID = 146415 ) Nepal / AT
8)
Question ID :- (Question ID = 51642 )
Question Description :- HP12_ GENERAL KNOWLEDGE_SET1Q17

Question Stimulus :-

When is the World Tsunami Awareness Day celebrated? | fay '\TITIﬂ SINR=&dl f¢aq ®q
HATAT STl 52

o (Option ID = 146430 )
November 3 / &Y 3
« (Option ID = 146431 )
November 4 / 7dHIX 4
e (Option ID = 146432)
November 5/ dHIY 5
o (Option ID = 146433 )

November 6 / 1dHR 6
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Option ID :-0Correct Answer :-(Option ID = 146432 ) November 5 / HdHIX 5
9)

Question ID :- (Question ID = 51632 )

Question Description :- HP12_ GENERAL KNOWLEDGE_SET1Q7

Question Stimulus :-

Recently BHEL inaugurated a .................. MW Coal based Thermal Power Plant Project in
Seoni. /AT A AT ARG AH .................. WETe 3t Hradr ria arda et w@ax
URATST BT JURT fHar |

e (Option ID = 146390 )
600
e (Option ID =146391)
700
¢ (Option ID = 146392)
800
e (Option ID =146393)
900
Option ID :-0Correct Answer :-(Option ID = 146390 ) 600
10)
Question ID :- (Question ID = 51628)
Question Description :- HP12_ GENERAL KNOWLEDGE_SET1Q3

Question Stimulus :-

On which of the following river’s bank is the Simhastha Kumbha Mela held? fafafead s
fore 7 & ae¢ W Riswy (w1 A 1 3o fHar omar 82

« (Option ID = 146374 )
Chambal / A

« (Option ID = 146375)
Shipra / f&rr

« (Option ID = 146376)
Narmada / THgT

« (Option ID = 146377 )

Parbati / UTddl
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Option ID :-0Correct Answer :-(Option ID = 146375 ) Shipra / farom
11)

Question ID :- (Question ID = 51631 )

Question Description :- HP12_ GENERAL KNOWLEDGE_SET1Q6
Question Stimulus :-

Which of the following districts of Madhya Pradesh borders both Maharashtra and

Chhattisgarh state? / Faffad & & AT U= T I AT foraT AgRTY 3R BTG G-I Il
P AR RUTE 2

e (Option ID = 146386 )
Dindori / f&SH
e (Option ID = 146387 )
Balaghat / dTeITHIC
e (Option ID = 146388 )
Seoni / Rra=
e (Option ID = 146389 )
Anuppur / 3I*JUYR
Option ID :-0Correct Answer :-(Option ID = 146387 ) Balaghat / dT¢ITHIC
12)
Question ID :- (Question ID = 51637)
Question Description :- HP12 GENERAL KNOWLEDGE SET1Q12
Question Stimulus :-
What is the Sendai Framework related to: Iﬁ"e'.'l's: HIP frad Twefid %:
« (Option ID = 146410 )
Economic Integration of Asia / Q‘QI’CIT &1 fa<ita Eﬂﬂw I
« (Option ID = 146411 )
Protection of the Coral Reefs / T‘[ L4 iIE'F-ﬁ C4| qRa&m |
« (Option ID = 146412 )
Disaster Risk Reduction /3(TU&T SIfGH # HH A |
« (Option ID = 146413 )

None of these / ETI'I}I I ﬂ'ﬂ's: T-Iﬁ
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Option ID :-0Correct Answer :-(Option ID = 146412 ) Disaster Risk Reduction /3{TUql e d

FH A A

13)

Question ID :- (Question ID = 51639 )

Question Description :- HP12 GENERAL KNOWLEDGE SET1Q14

Question Stimulus :-

MGK Menon who had recently passed away was a renowned . /Q’H.Txﬁ.a?. A9 o=t
Fagiddgag e, tefamma_ ¥
« (Option ID = 146418)
Scientist /AFA®

« (Option ID = 146419 )
Singer / TIA®

« (Option ID = 146420 )
Author | I G®H

« (Option ID = 146421)

Politician / ITSHdT

Option ID :-0Correct Answer :-(Option ID = 146418 ) Scientist ﬁmﬁw
14)

Question ID :- (Question ID = 51641 )

Question Description :- HP12_ GENERAL KNOWLEDGE_SET1Q16

Question Stimulus :-

How many states will utilize the Urja Ganga pipeline launched recently? / gT¢l o A yR™Y It
T UTSUETS &1 IUANT foha= vreul g1 far smemm 2

« (Option ID = 146426 )
3

« (Option ID = 146427)
4

« (Option ID = 146428 )
5

« (Option ID = 146429 )

6
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Option ID :-0Correct Answer :-(Option ID = 146428 ) 5

15)

Question ID :- (Question ID = 51630 )

Question Description :- HP12 GENERAL KNOWLEDGE SET1Q5

Question Stimulus :-

In which of the following places is the Chandni Thermal Power Plant situated? | fFafafaa |

A P I RIM W gig- a9 fagaa &g fRud g2
e (Option ID = 146382)
Burhanpur (City) / d¥elHYR (RMeX)
e (Option ID = 146383)
Nepanagar / IR
e (Option ID = 146384 )
Khandwa / @sdl
e (Option ID = 146385)
Mandsaur / R
Option ID :-0Correct Answer :-(Option ID = 146384 ) Khandwa / EsdTl
16)
Question ID :- (Question ID = 51629 )
Question Description :- HP12_ GENERAL KNOWLEDGE_SET1Q4
Question Stimulus :-

Madhya Pradesh is the ............... state in India to approve set up of a Happiness Ministry. /

A USRI GRISTA! HATAT BT RITIAT BT SFHIGT ¢ aTeT YR BT oo TE |
« (Option ID = 146378 )
First /| UYH
« (Option ID = 146379 )
Second / fgia
« (Option ID = 146380 )
Third / it
e (Option ID = 146381 )

Fourth / agd
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Option ID :-0Correct Answer :-(Option ID = 146378 ) First / UYH
17)

Question ID :- (Question ID = 51636 )

Question Description :- HP12_GENERAL KNOWLEDGE_SET1Q11

Question Stimulus :-

Which Indian Bank is the first to issue Masala Bonds? / Fuafefad # 3 foa yrRdlg dF A
JAYYH HHTAT s BT YR fhar?

e (Option ID = 146406 )
ICICI Bank/3iTg. .3} 3ms. Y. 3. d&
e (Option ID = 146407 )
SBI / HRA W d§&
e (Option ID = 146408 )
Axis Bank/TfRTH d§&
e (Option ID = 146409 )
HDFC Bank/Ta.3 UG A 45

Option ID :-0Correct Answer :-(Option ID = 146409 ) HDFC Bank/Ug.S1. 0% 9%

Topic:- General English
1)

Question ID :- (Question ID = 51491)
Question Description :- HP12_GENERAL ENGLISH_SET3Q2
Question Stimulus :-

DIRECTIONS: A sentence with an underlined word is given below. Find the Word which is most similar in
meaning to the underlined word.

Public ignorance about the disease is still a cause of concern.
e (Option ID = 145826 )
Knowledge
e (Option ID = 145827)
Understanding
e (Option ID = 145828 )
Awareness
e (Option ID = 145829)

Unawareness
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Option ID :-0Correct Answer :-(Option ID = 145829 ) Unawareness
2)
Question ID :- (Question ID = 51502 )
Question Description :- HP12 GENERAL ENGLISH_SET3Q13
Question Stimulus :-
Fill in the blank with the correct set of prepositions.
The temperature is expected  drop _ ten degrees  zero tonight.
e (Option ID = 145870 )
of, to, above
e (Option ID = 145871)
for, of, below
e (Option ID = 145872 )
to, to ,below
e (Option ID = 145873)
by, of, below
Option ID :-0Correct Answer :-(Option ID = 145872 ) to, to ,below
3)
Question ID :- (Question ID = 51505 )
Question Description :- HP12 GENERAL ENGLISH_SET3Q16
Question Stimulus :-
Once there lived a blind man in a small town. He always carried a lighted lamp in his hand whenever he went
out at night. On one dark night he was going with his lighted lamp in his hand. A group of men were passing
that way. They saw the blind man and made fun of him. They said, 'O Blind man why do you carry the lighted
lamp when you are blind and cannot see anything?” The blind man politely said, "This lamp is not for me, but
for you people who have eyes. You may not see a blind man coming and push him. They felt ashamed and
begged pardon.
What do you think would be the moral of the given extract?
e (Option ID = 145882 )
The one-eyed person is a beauty in the country of the blind.
e (Option ID = 145883 )
Better be one-eyed than quite blind.
e (Option ID = 145884 )

When the blind lead the blind, both shall fall into the ditch.
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e (Option ID = 145885)
Think twice before you speak.
Option ID :-0Correct Answer :-(Option ID = 145885 ) Think twice before you speak.
4)
Question ID :- (Question ID = 51492 )
Question Description :- HP12_GENERAL ENGLISH_SET3Q3
Question Stimulus :-

DIRECTIONS: A sentence with an underlined word is given below. Find the word which is opposite to the
highlighted word from the given options.

Stewart asked me to lend him my car.
e (Option ID = 145830 )
repair
e (Option ID =145831)
give
e (Option ID = 145832)
buy
e (Option ID =145833)
borrow
Option ID :-0Correct Answer :-(Option ID = 145833 ) borrow
S)
Question ID :- (Question ID = 51504 )
Question Description :- HP12_GENERAL ENGLISH_SET3Q15
Question Stimulus :-
Fill in the blank with the word given in the bracket along with the correct prefix out of the given four options.
If you're  (satisfied) with the service, why don't you complain to the hotel manager?
e (Option ID = 145878 )
in
e (Option ID =145879)
pre
e (Option ID = 145880 )

un
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e

7

« (Option ID = 145881 )

dis

Option ID :-0Correct Answer :-(Option ID = 145881 ) dis

6)

Question ID :- (Question ID = 51500 )
Question Description :- HP12_GENERAL ENGLISH_SET3Q11
Question Stimulus :-
Out of the four options given below, choose the one with the correct meaning of the idiom.
“Burn the midnight oil”
e (Option ID = 145862 )
To do daring things at night
e (Option ID = 145863 )
To study only in the light of the lamp
e (Option ID = 145864 )
To pour extra oil in the lamp
e (Option ID = 145865 )

Staying awake in the night either studying, reading or working

GET IT ON
Google Play

Option ID :-0Correct Answer :-(Option ID = 145865 ) Staying awake in the night either studying, reading
or working

7)

Question ID :- (Question ID = 51501 )
Question Description :- HP12_GENERAL ENGLISH_SET3Q12

Question Stimulus :-

Two sentences are given below. Choose the correct conjunction to join the given sentences.

I enjoyed her new book.
It's not quite as good as her last one.

« (Option ID = 145866 )

though

e (Option ID = 145867 )

and

« (Option ID = 145868 )
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as
e (Option ID = 145869 )
as if
Option ID :-0Correct Answer :-(Option ID = 145866 ) though
8)
Question ID :- (Question ID = 51497 )
Question Description :- HP12_GENERAL ENGLISH_SET3Q8
Question Stimulus :-
Out of the given options, choose the one which is the correct indirect speech of the sentence given below.
The teacher said to Janet, “work regularly.”
e (Option ID = 145850 )
The teacher advised Janet to work regularly.
e (Option ID = 145851)
The teacher ordered Janet that she should be working regularly.
e (Option ID = 145852)
The teacher pleaded Janet to work regularly.
e (Option ID =145853)
The teacher warned Janet to be working regularly.
Option ID :-0Correct Answer :-(Option ID = 145850 ) The teacher advised Janet to work regularly.
9)
Question ID :- (Question ID = 51506 )
Question Description :- HP12_ GENERAL ENGLISH_SET3Q17
Question Stimulus :-

DIRECTIONS: Given below are four sentences with an incorrect order. Arrange them in a meaningful order
to form a coherent whole.

P. Ozone is a colourless gas which is found in the stratosphere of our upper atmosphere.
Q. It is also one of the prime reasons which are leading to global warming.
R. The layer of ozone gas protects us from the harmful ultraviolet radiations of the sun.
S. Ozone layer depletion is one of the most serious problems faced by our planet earth.
e (Option ID = 145886 )
QPRS

« (Option ID = 145887 )
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RPQS
e (Option ID = 145888 )
PSRQ
e (Option ID = 145889 )
SQPR
Option ID :-0Correct Answer :-(Option ID = 145889 ) SQPR
10)
Question ID :- (Question ID = 51499 )
Question Description :- HP12_ GENERAL ENGLISH_SET3Q10
Question Stimulus :-
Out of the four sentences given below, choose the one which is grammatically incorrect.
e (Option ID = 145858 )
Do you think Australia is a more democratic country than Britain?
e (Option ID = 145859 )
Fresh vegetables are better to you than canned ones.
e (Option ID = 145860 )
It's much better to have a small, cosy room than a big, cold one.
e (Option ID = 145861 )
It is one of the most exciting books that I have ever read.

Option ID :-0Correct Answer :-(Option ID = 145859 ) Fresh vegetables are better to you than canned
ones.

11)
Question ID :- (Question ID = 51493 )
Question Description :- HP12_GENERAL ENGLISH_SET3Q4
Question Stimulus :-
Out of the given four words one is spelt incorrectly. Find the word that is incorrectly spelt
e (Option ID =145834)
anounce
e (Option ID = 145835)
pronounce

« (Option ID = 145836 )
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recite
e (Option ID =145837)
exhibit
Option ID :-0Correct Answer :-(Option ID = 145834 ) anounce
12)
Question ID :- (Question ID = 51496 )
Question Description :- HP12_GENERAL ENGLISH_SET3Q7
Question Stimulus :-
Out of the given options, choose the one which is the correct passive voice of the sentence given below.
All trust an honest man.
e (Option ID = 145846 )
An honest man was trusted by all.
e (Option ID = 145847 )
An honest man is trusted by all.
e (Option ID = 145848 )
An honest man should be trusted by all.
e (Option ID = 145849 )
An honest man can be trusted by all.
Option ID :-0Correct Answer :-(Option ID = 145847 ) An honest man is trusted by all.
13)
Question ID :- (Question ID = 51495 )
Question Description :- HP12 GENERAL ENGLISH_SET3Q6
Question Stimulus :-

DIRECTIONS: Two sentences are given below with a blank in each. Fill in the blanks with a pair of suitable
words from the four options for each blank respectively:

Queen Victoria _ over Britain from 1837 to 1901.
It heavily last night
e (Option ID =145842)
reigned, rained
e (Option ID =145843)
rained, reigned

« (Option ID = 145844 )
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rained, rained
e (Option ID = 145845)
reigned, reigned
Option ID :-0Correct Answer :-(Option ID = 145842 ) reigned, rained
14)
Question ID :- (Question ID = 51498 )
Question Description :- HP12. GENERAL ENGLISH_SET3Q9
Question Stimulus :-
Fill in the blank with the correct word from the options given below.
India is a member of the security
e (Option ID = 145854)
counsels
e (Option ID = 145855)
counselling
e (Option ID = 145856 )
council
e (Option ID = 145857 )
counsel
Option ID :-0Correct Answer :-(Option ID = 145856 ) council
15)
Question ID :- (Question ID = 51503 )
Question Description :- HP12_GENERAL ENGLISH_SET3Q14
Question Stimulus :-
Choose a word that can be replaced for the given sentence.
“The scientific study of the sun, the moon, the stars etc”
e (Option ID = 145874)
Astronomy
e (Option ID = 145875)
Palmistry
e (Option ID = 145876 )

Anthropology

GET IT ON
Google Play
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e (Option ID = 145877 )
Horoscope
Option ID :-0Correct Answer :-(Option ID = 145874 ) Astronomy
16)
Question ID :- (Question ID = 51490 )
Question Description :- HP12_GENERAL ENGLISH_SET3Q1
Question Stimulus :-
Out of the given options which best expresses the meaning of the given proverb?
"Don't count your chickens before they hatch."
e (Option ID = 145822)
If you keep hens then there is no need to see how many chickens are hatched each day
e (Option ID = 145823 )
Don't make plans based on predicted results that haven't occurred yet.
e (Option ID = 145824)
If we count the hatched chickens then their number decreases
e (Option ID = 145825)
Do not sell all the chickens that are hatched at a time

Option ID :-0Correct Answer :-(Option ID = 145823 ) Don't make plans based on predicted results that
haven't occurred yet.

17)

Question ID :- (Question ID = 51494 )

Question Description :- HP12 GENERAL ENGLISH_SET3Q5
Question Stimulus :-

DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options, choose the
one which can be substituted for the given phrasal Verb.

The criminals got away after killing three men.
e (Option ID = 145838)
Escaped
e (Option ID =145839)
Arrested
e (Option ID = 145840 )

Killed
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e (Option ID = 145841 )
Imprisoned

Option ID :-0Correct Answer :-(Option ID = 145838 ) Escaped

Topic:- General Hindi
1)

Question ID :- (Question ID = 51579 )

Question Description :- HP12_GENERAL HINDI_SET3Q5
Question Stimulus :-

dHH g BT I HIfOTC-

(Option ID = 146178 )

W

(Option ID = 146179 )

Ut

(Option ID = 146180 )

TR

(Option ID = 146181 )

qd

Option ID :-0Correct Answer :~(Option ID = 146181 ) Yd

2)
Question ID :- (Question ID = 51583 )
Question Description :- HP12_GENERAL HINDI_SET3Q9
Question Stimulus :-
o & 3 &1 9= -
g g &1 3ifYra weT Harg U faw-aRT |
ferreyR, feffa- 0, Sh e M sa s o
e (Option ID =146194)
[N
e (Option ID =146195)
dR ™=

« (Option ID = 146196 )

GET IT ON
Google Play
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q% 39
e (Option ID =146197)

D20 I

Option ID :-0Correct Answer :-(Option ID = 146197 ) P>UI IH

3)
Question ID :- (Question ID = 51576 )
Question Description :- HP12_ GENERAL HINDI_SET3Q2
Question Stimulus :-
A reg) A & U ¥R W p AT R
e (Option ID = 146166 )
g4
e (Option ID = 146167 )
SETHTT
e (Option ID = 146168 )
HIEGE]
e (Option ID = 146169 )
PR
Option ID :-0Correct Answer :-(Option ID = 146166 ) dU-
4)
Question ID :- (Question ID = 51577)
Question Description :- HP12_ GENERAL HINDI _SET3Q3

Question Stimulus :-

GET IT ON
Google Play

g fafea 6 araal ® wyw 9 sifaw fAf¥a 8 v <1 Sfa $u A yafRa Fifvm-

01- 31 # Wfere

- YT BTd & g1 Wpd W9 A
Y- Twar W urit ot g 1

- IPTIT Bt Forgd fHar g |

d- Rd ¥ 9+t edf & A= ara

06- IRER A HIAZA® |
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e (Option ID = 146170 )
gy dd
e (Option ID = 146171)
RYgdd
« (Option ID = 146172 )
Xddyg
« (Option ID = 146173 )
Xddyg
Option ID :-0Correct Answer :-(Option ID = 146171 )X9d &
S)
Question ID :- (Question ID = 51585 )
Question Description :- HP12_GENERAL HINDI_SET3Q11
Question Stimulus :-
AR & R[S URT BT T4 BIfore-
e (Option ID = 146202)
&I HEIGY SATSITSI & 60 TY
e (Option ID = 146203)
& a1g W fi§dY emer 7
e (Option ID = 146204 )
T Rige I Tl PR AS @ |
e (Option ID = 146205)
PIE 3fe et
Option ID :-0Correct Answer :-(Option ID = 146202 ) 3SO&T HEIGY TSI & 60 94
6)
Question ID :- (Question ID = 51582 )
Question Description :- HP12 GENERAL HINDI _SET3Q8
Question Stimulus :-
Frafafad area o erquf geray &t ot $ifsme-
T AR AT B AT R .
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e (Option ID = 146190 )
&1 aa FHera fear
e (Option ID = 146191)
&1 Ugrs a1 fear
« (Option ID = 146192 )
&1 d1s g1 fear
« (Option ID = 146193 )
&1 fore @ foran
Option ID :-0Correct Answer :-(Option ID = 146192 ) BT dIS a1 fear
7)
Question ID :- (Question ID = 51575)
Question Description :- HP12_ GENERAL HINDI _SET3Q1

Question Stimulus :-
9 A 919 a1 PR 82
“STedT g Tg Sia--Ud”

(Option ID = 146162 )

SUHT 3[APR

(Option ID = 146163 )

TUP AAPR

(Option ID = 146164 )

JHSD AP

(Option ID = 146165 )

SWRIT | | D5 g1

Option ID :-0Correct Answer :-(Option ID = 146163 ) TUP HABIR
8)

Question ID :- (Question ID = 51586 )

Question Description :- HP12_GENERAL HINDI_SET3Q12

Question Stimulus :-

3 TR BT G- DIoTe-
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(Option ID = 146206 )
# P HETHaT § WA §
(Option ID = 146207 )

ITF YTUT U 3§ T

(Option ID = 146208 )

98 WIS 9gd e o

(Option ID = 146209 )
Y N B deTdl UT

Option ID :-0Correct Answer :-(Option ID = 146209 ) AF R Del GIR))|

9)
Question ID :- (Question ID = 51580 )
Question Description :- HP12_GENERAL HINDI_SET3Q6
Question Stimulus :-
“JTYH’ BT YATgardT Xeg THII-
e (Option ID = 146182)
3ifés
e (Option ID = 146183)
g
e (Option ID = 146184 )
g
e (Option ID =146185)
E1d
Option ID :-0Correct Answer :-(Option ID = 146184 ) £ 10}
10)
Question ID :- (Question ID = 51588 )
Question Description :- HP12 GENERAL HINDI SET3Q14
Question Stimulus :-
TS § U §-
e (Option ID = 146214)

GET IT ON
Google Play
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adqey
e (Option ID = 146215)
FHYRY
e (Option ID = 146216)
1
e (Option ID = 146217)
fe
Option ID :-0Correct Answer :-(Option ID = 146215 ) FUHYRY
11)
Question ID :- (Question ID = 51587 )
Question Description :- HP12 GENERAL HINDI _SET3Q13
Question Stimulus :-
Soaray o wfy -
e (Option ID = 146210)
o1 &}
e (Option ID = 146211)
gfs &R
e (Option ID = 146212)
dFwR
e (Option ID = 146213)
qul ¥d¥
Option ID :-0Correct Answer :-(Option ID = 146213 ) YUT T
12)
Question ID :- (Question ID = 51591)
Question Description :- HP12_GENERAL HINDI_SET3Q17
Question Stimulus :-
e ¥ 9gt ad-it 31 99+ Bife-
e (Option ID = 146226)

THEH
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e (Option ID = 146227)
U
e (Option ID = 146228)
LLGEIE
e (Option ID = 146229)
JHTH
Option ID :-0Correct Answer :-(Option ID = 146227 ) TR
13)
Question ID :- (Question ID = 51589 )

Question Description :- HP12_GENERAL HINDI_SET3Q15

Question Stimulus :-

3TeHY Y T € BTH TR AT ST, U1 URYH Higd S 91 | wian S+ 2, sl qr @«
g & fiees ® ), AT M Fd A gl iR P Re F dH Ui Aol g | sH R
st oft o | fifs 1 et | ugd U &1 o, e v, R A s g aa s @
B B | T O TG YR I AR |

« (Option ID = 146218 )
S GeRfe qedwia urg
« (Option ID = 146219)
TS 91 99 98 99 918 99 9"
« (Option ID = 146220)
o= @i A<l fore =i e = afm
« (Option ID = 146221)
SWIa # A Pl 61
Option ID :-0Correct Answer :-(Option ID = 146219 ) T |18 Hq T I J1E I W1
14)
Question ID :- (Question ID = 51578)
Question Description :- HP12 GENERAL HINDI _SET3Q4
Question Stimulus :-
A dfdaal & 9 #1999 Fifre-
« faen-eq ITH faAT, 8 U i |
o= game =1 ey, =i v 0t w0
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(Option ID = 146174 )

|

(Option ID = 146175 )

g

(Option ID = 146176 )

TRaT

(Option ID = 146177)
Jer

Option ID :-0Correct Answer :-(Option ID = 146174 ) T:ﬂET

15)
Question ID :- (Question ID = 51584 )
Question Description :- HP12_GENERAL HINDI_SET3Q10
Question Stimulus :-
e (Option ID = 146198 )
iy
e (Option ID =146199)
Y aR
e (Option ID = 146200 )
HIYRT 9T
e (Option ID = 146201 )
79 I IS &
Option ID :-0Correct Answer :-(Option ID = 146200 ) HTYRUT 9T
16)
Question ID :- (Question ID = 51581 )
Question Description :- HP12 GENERAL HINDI_SET3Q7
Question Stimulus :-
<feTar | yeag ygane-

e (Option ID = 146186 )

GET IT ON
Google Play
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QHI
e (Option ID = 146187 )
HT
e (Option ID = 146188 )
<A
e (Option ID =146189)
famm
Option ID :-0Correct Answer :-(Option ID = 146186 ) SHI
17)
Question ID :- (Question ID = 51590 )
Question Description :- HP12 GENERAL HINDI _SET3Q16
Question Stimulus :-
P g & JUIT BT IR VM §:
e (Option ID = 146222)
GIGE
e (Option ID = 146223)
5
e (Option ID = 146224)
3irsag
e (Option ID = 146225)
AR
Option ID :-0Correct Answer :-(Option ID = 146224 ) 3

Topic:- General Maths
)

Question ID :- (Question ID = 51755)
Question Description :- HP12 GENERAL MATHS SET3Q11

Question Stimulus :-

GET IT ON
Google Play

Two pipes can fill a cistern in 3 hours and 3 hours 45 minutes respectively and a third pipe can empty the
whole cistern in an hour. The cistern is half filled with water and all the three pipes are opened together. The
time after which the cistern will be emptied, is:/ﬁmwéﬁaﬁmz 3uc 3R 3 He 45 e d WW%
3R =T UTs Y T ot ) U e W et B Apar g | Eat el wdt g3 ® iR i ursu v Wy arg R Ry e § |

98 IHY Rrd ¢t @relt 8t areh, @:
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(Option ID = 146882 )

45 minutes/45 fiqe

(Option ID = 146883 )

1 hour 15 minutes/1 2T 15 fiFe

(Option ID = 146884 )

1 hour 30 minutes/1 HeT 30 e

(Option ID = 146885 )
1 hour 45 minutes/1 ¥eT 45 fiAe
Option ID :-0Correct Answer :-(Option ID = 146883 ) 1 hour 15 minutes/1 HeT 15 fire
2)
Question ID :- (Question ID = 51751)
Question Description :- HP12_GENERAL MATHS SET3Q7
Question Stimulus :-
The difference of compound interest and simple interest on a sum at the rate of 6% for two years is 336, then
what will be the sum?/9fe T U-RIRI TR 6% YD a3 &l I8 & Tshgfx AT 3N TYRT TS | 3R 236 8, A1 T8
YRR fora=it gt
e (Option ID = 146866 )
10,000
e (Option ID = 146867 )
12,000
e (Option ID = 146868 )
15,000
e (Option ID = 146869 )
%9,000
Option ID :-0Correct Answer :-(Option ID = 146866 ) ¥10,000
3)
Question ID :- (Question ID = 51757)
Question Description :- HP12_GENERAL MATHS_SET3Q13
Question Stimulus :-

A train, 110 meter long, is running at a speed of 60 kmph. How many seconds does it take to
cross another train, 170 meter long, standing on parallel track?/110 Tt et 2=r 60 fopeirae
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GET IT ON
Google Play

Dt Ifd A I LT 21 I THIAR UY UR TSl 170 H. Al gOR ¢ ) UR =+ ° fhaq Awvs &1

qHY

« (Option ID = 146890 )

?

15.6

« (Option ID = 146891 )

16.8

« (Option ID = 146892 )

17.2

« (Option ID = 146893 )

18

Option ID :-0Correct Answer :-(Option ID = 146891 ) 16.8

4)

Question ID :- (Question ID = 51756 )
Question Description :- HP12 GENERAL MATHS SET3Q12

Question Stimulus :-

Two persons A and B started from two different places towards each other. If the ratio of
their speeds be 3: 5, then what is the ratio of distance covered by A and B respectively till

the point ofmeeting?/ﬁﬁAGﬁTBﬁﬁﬂ@lﬁ@@ﬁ%ﬁ&ﬁ?mmm?f%l
gfe ITa! TIferal 1 3T 3: 5 8, dt A @ B §RI1 HHRT: e & RIF 9% ugeq d 9 &1 718 g

BT JUTd T GRIT?

« (Option ID = 146886 )
1:2

e (Option ID = 146887 )
3:4

e (Option ID = 146888 )
3:5

e (Option ID = 146889 )
5:3

Option ID :-0Correct Answer :-(Option ID = 146888 ) 3:5

)

Question ID :- (Question ID = 51753 )
Question Description :- HP12_GENERAL MATHS_SET3Q9

Question Stimulus :-
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The harmonic mean of 2, 3,4 and 5 is:/ 2,3, 4 3R 5 T BRIHD HIT EﬂTIT-

e (Option ID = 146874 )
308
61

e (Option ID = 146875)
243
77

e (Option ID = 146876 )
240
77

e (Option ID = 146877 )

309
61

Option ID :-0Correct Answer :~(Option ID = 146876 ) 77

6)

Question ID :- (Question ID = 51759 )

Question Description :- HP12. GENERAL MATHS SET3Q15

Question Stimulus :-

240

GET IT ON
Google Play

In how many ways five chocolates can be chosen from an unlimited number of Cadbury,

Five-star, and Perk chocolates?/ aﬁﬂ'\ﬁ, WId ¥R, 3R U Fidpeic &1 Afg e d 3

foraq TSI | 5 Tipae] B g1 o JhdT 82

e (Option ID = 146898 )
81

e (Option ID = 146899 )
243

e (Option ID = 146900 )
21

e (Option ID = 146901 )

31

Option ID :-0Correct Answer :-(Option ID = 146899 ) 243

7)

Question ID :- (Question ID = 51746 )
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Question Description :- HP12 GENERAL MATHS SET3Q2
Question Stimulus :-

What should come in place of the question mark (?) in the following questions? | FFrafafea uy o
UHATa® g (?) & RITH W T T2

242 — 132 +?2_?
19 o

e (Option ID = 146846 )
18
e (Option ID = 146847 )
24
e (Option ID = 146848 )
22
e (Option ID = 146849 )
21
Option ID :-0Correct Answer :-(Option ID = 146847 ) 24
8)
Question ID :- (Question ID = 51750 )
Question Description :- HP12_ GENERAL MATHS SET3Q6
Question Stimulus :-

The percent profit made when an article is sold for ¥56 is thrice as when it is sold for ¥42.
The cost price of the article is:/Td d¥q B 256 § daH IR gl gfa=ra @Y, T42 ¥ 994 W EA
T Ufa=Ta 1Y &1 9 A1 8 | 9 BT HY o4 B

e (Option ID = 146862 )
T28

e (Option ID = 146863 )
%49

e (Option ID = 146864 )
%25

e (Option ID = 146865 )
T35

Option ID :-0Correct Answer :-(Option ID = 146865 ) ¥35

9
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Question ID :- (Question ID = 51754 )

Question Description :- HP12_GENERAL MATHS_SET3Q10

Question Stimulus :-

GET IT ON
Google Play

If 6 girls can embroider a dress in 9 days, then the number of days taken by 3 girls for the

same work will be: /Af¢ 6 ASfHUT TP TIPS F HeTs 9 feT A BT TP § a1 3 Tsfhal b grRI

T &1 H3 B R T R Y e gl

Option ID :-0Correct Answer :-(Option ID = 146879 ) 18

10)

(Option ID = 146878 )
14
(Option ID = 146879 )
18
(Option ID = 146880 )
20
(Option ID = 146881 )
15

Question ID :- (Question ID = 51748 )

Question Description :- HP12_ GENERAL MATHS SET3Q4

Question Stimulus :-

Find out the wrong term in the given series: |t §€ goft # wrera Wﬂﬁﬁ:

2,6,16, 38, 84,176, 368

Option ID :-0Correct Answer :-(Option ID = 146857 ) 176

11)

(Option ID = 146854 )
6

(Option ID = 146855 )
16

(Option ID = 146856 )
38

(Option ID = 146857 )

176
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Question ID :- (Question ID = 51752)
Question Description :- HP12_GENERAL MATHS_SET3Q8
Question Stimulus :-

5783 is divided among Sherry, Berry and Cherry in such a way that if 328, I37 and Y18 be deducted from
their respective shares, they have money in the ratio 4 : 6 : 9. Sherry’s share is: / 2, 9 3 I F Hem 5783
39 UPR faufora f5a 1 § for afe 37 fewl & 9 s 228, 337 3R 18 Ui 9T oY 37 IR o7 3ruTa 4 -
6 : 9 B SRR | A} T g &
e (Option ID = 146870 )
¥1256
e (Option ID =146871)
31228
e (Option ID = 146872)
%1450
e (Option ID =146873)
¥1084
Option ID :-0Correct Answer :-(Option ID = 146871 ) ¥1228
12)
Question ID :- (Question ID = 51749 )
Question Description :- HP12_ GENERAL MATHS SET3QS5

Question Stimulus :-

1
A man’s age is 125% of what it was 10 years ago, but 833% of what it will be after 10 years.

His present age is: /Bﬁwﬁrﬁmwﬁwaﬁmﬁmaﬂ 125% @, fg SHPt g
T 915 P AT B 83°% §, A IYP! TAH 3T 8:
« (Option ID = 146858 )
48
« (Option ID = 146859 )
49
« (Option ID = 146860 )
51
« (Option ID = 146861 )
50

Option ID :-0Correct Answer :-(Option ID = 146861 ) 50
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13)
Question ID :- (Question ID = 51747)
Question Description :- HP12_GENERAL MATHS_SET3Q3

Question Stimulus :-

What will come in place of Question mark (?) in the following number series? / fFafefad
=T YUITelt # ugaras® foeg (?) & T U= T S

13, 41, 85, 145, (?)
e (Option ID = 146850 )
484
e (Option ID = 146851)
474
e (Option ID = 146852)
221
e (Option ID =146853)
281
Option ID :-0Correct Answer :-(Option ID = 146852 ) 221
14)
Question ID :- (Question ID = 51761 )
Question Description :- HP12_GENERAL MATHS_SET3Q17
Question Stimulus :-

The ratio between the length and breadth of a rectangular park is 3 : 2. If a man cycling
along the boundary of the park at the speed of 12 kmph completes one round in 8 minutes,

then the area of the park (in sq.metre) is:IWWWﬁW@Gﬁ?iﬁEﬂ?%HW3 :
2 FT 3JUTd 8| 9fe T safaa ST &1 Aa1 W 12 {5t ufa v ot nfa & wgfea a8
e ¥ U I9H) T A A1 8, a9 S &7 & diex #):

e (Option ID = 146906 )
15360

e (Option ID = 146907 )
153600

e (Option ID = 146908 )
30720

e (Option ID = 146909 )
307200
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Option ID :-0Correct Answer :-(Option ID = 146907 ) 153600

15)

Question ID :- (Question ID =51745)

Question Description :- HP12 GENERAL MATHS SET3Q1

Question Stimulus :-

0.342 x 0.684

0,342 x 0.684

GET IT ON
Google Play

The square root of 0.000342 x 0.000171 jg? / 0.000342 x 0.000171 ] a‘rﬁlﬂ' %;

(Option ID = 146842 )
250

(Option ID = 146843 )
2500

(Option ID = 146844 )
2000

(Option ID = 146845 )

4000

Option ID :-0Correct Answer :~(Option ID = 146844 ) 2000

16)

Question ID :- (Question ID = 51760 )

Question Description :- HP12_GENERAL MATHS_SET3Q16

Question Stimulus :-

HCF a%d LCM of a?b3c# and aSb#c3 respectively are :/ aZb3¢c* 3R aSb4c3 F . 9. 3R 4. 9.
HHTI: 3

(Option ID = 146902 )
aZb3c?, aSpied
(Option ID = 146903 )
a2b3¢3, a2b3ct
(Option ID = 146904 )
a2b3¢3, aSbdct
(Option ID = 146905 )

a5b3c3, adb4c3
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Option ID :-0Correct Answer :-(Option ID = 146904 ) aZb3¢3, aSpc?

17)

Question ID :- (Question ID = 51758 )
Question Description :- HP12_GENERAL MATHS_SET3Q14

Question Stimulus :-

GET IT ON
Google Play

If the average weight of 6 students is 50 kg, average weight of another 2 students is 57 kg,
and average weight of another 2 students is 55 kg, then the average weight of all students

is: 1 afe 6 faenffaY &1 sitd YR 50 fbn 8, 2 3= faenfiay &1 3itd YR 57 fPaT 8 8iiv 2 3=

farenfdat &1 siiva YR 55 frur 8 1 @Y ot faenfRiy &1 siga WR @:
« (Option ID = 146894 )
61 kg/61 3T
« (Option ID = 146895 )
51.5 kg/51.5 f&3m
« (Option ID = 146896 )
52.4 kg/52.4 T3
« (Option ID = 146897 )
51.2 kg/51.2 f&3m
Option ID :-0Correct Answer :-(Option ID = 146896 ) 52.4 kg/52.4 foun

Topic:- General Computer

1)

Question ID :- (Question ID = 51829 )
Question Description :- HP12 COMPUTER_SET3Q4

Question Stimulus :-

How long is an IPv6 address?/ IPv6 &1 a9 gIdl -

32 bits/32 faca &1

64 bits/64 facH &1

16 bits/16 fae &1

(Option ID = 147178 )

(Option ID = 147179 )

(Option ID = 147180 )

(Option ID = 147181 )
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128 bits/128 faaq &1
Option ID :-0Correct Answer :-(Option ID = 147181 ) 128 bits/128 ﬁl’\‘l’ Cal
2)
Question ID :- (Question ID = 51839 )
Question Description :- HP12_ COMPUTER_SET3Q14
Question Stimulus :-
In internet DNS is:/ ¢3¢ A DMS g:
e (Option ID = 147218)
Data Network System / SICT Acad R
e (Option ID = 147219)
Different Name System/ fewie 99 Ren
e (Option ID = 147220)
Direct Network Systeml@l@ﬂ%’ Acad ReH
e (Option ID = 147221)
Domain Name system / SHF A9 ey
Option ID :-0Correct Answer :-(Option ID = 147221 ) Domain Name system / SHAF A9 Ry
3)
Question ID :- (Question ID = 51826 )
Question Description :- HP12_ COMPUTER_SET3Q1
Question Stimulus :-

USB is:Iq:[{'\‘I'cﬁ e

« (Option ID = 147166)
Universal sequent Bus/ gf-iaxia Riegue a9

« (Option ID = 147167 )

Universal sequential Bus/ gfFadd Rieqeeiad a9

« (Option ID = 147168)
Universal successive Bus/ qﬁl'd“\:f?l TRRa 99
« (Option ID = 147169 )

Universal serial Bus/ gf-ada Jdifvaa a9
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Option ID :-0Correct Answer :-(Option ID = 147169 ) Universal serial Bus/ qﬁaﬁa ifvaa a9
4)

Question ID :- (Question ID = 51837 )

Question Description :- HP12 COMPUTER_SET3Q12

Question Stimulus :-

CANCELLED

How will you display the favorites menu using shortcut key in MS Word?/JH T CER: R
PT B BT IUUNT R & Bave HIY PA USRIT B2

e (Option ID =147210)
Alt+ O
e (Option ID = 147211)
Alt + F
e (Option ID = 147212)
Ctrl+ O
e (Option ID = 147213)
Ctrl + F
Option ID :-0Correct Answer :-(Option ID = 147210 ) Alt + O
5)
Question ID :- (Question ID = 51827)
Question Description :- HP12_ COMPUTER_SET3Q2
Question Stimulus :-
Thrashing-/ ARGT-
e (Option ID =147170)

is a natural consequence of virtual memory systems/ T aﬁ\’:lﬁ AR Ry &1
wruTfa® g g

« (Option ID = 147171)
can always be avoided by swapping/ P Wit & gRT Eﬁ'Q'IT BT ST bl %
« (Option ID = 147172)

always occurs on large computers/ B'ﬂ"-{IT EI% W R tng SITelt %

« (Option ID = 147173 )
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GET IT ON
Google Play

can be caused by poor paging algorithms/ WRTd UFSRT MY aT & gRT Sud 81 el

g

Option ID :-0Correct Answer :-(Option ID = 147173 ) can be caused by poor paging algorithms/

ERTS AR SRS & gRT SUH 8 Thal &

6)

Question ID :- (Question ID = 51833 )

Question Description :- HP12 COMPUTER SET3Q8
Question Stimulus :-

What is the full form of ASCII:/ ASCIl T YT ATH B:

« (Option ID = 147194 )

American Standard Code for Inked Information/ 3MR® L USS B BR EG T

SABTHRA

« (Option ID = 147195 )

American Standard Code for Information Inked/ 3RS WSS IS BIR FTBTHIT
EES)

e (Option ID = 147196 )

American Standard Code for Information Interchange/ MNP RUsE B BIR

FABTHRM Scvds

« (Option ID = 147197)

Asian Standard Code for Information Interchange/ Q‘&I’CH RUSE BIS BR QT-I'Q"I'&QF[

Option ID :-0Correct Answer -(Optlon ID = 147196 ) Amerlcan Standard Code for Information

Interchange/ ARPT RUSS Fis BIR

7

Question ID :- (Question ID = 51840 )
Question Description :- HP12_ COMPUTER_SET3Q15
Question Stimulus :-
LCD is:/ Qﬁ?ﬂ?ﬂ %:
e (Option ID = 147222)
Liquified Crystal Displayfi%l'[%fb'lg_er foreea fewa
e (Option ID = 147223)
Liquid Cryptotis Displaymmﬁﬁ fewa

« (Option ID = 147224 )
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Liquid Crystal Display/fef@s foheea fawat
« (Option ID = 147225)

Liquid Crypto Display/fiifés fppl faw=

GET IT ON
Google Play

Option ID :-0Correct Answer :-(Option ID = 147224 ) Liquid Crystal Display/fif@s foreea feva

8)

Question ID :- (Question ID = 51838 )
Question Description :- HP12_ COMPUTER_SET3Q13

Question Stimulus :-

Which one of the following is not the feature of internet?/ a9 3 Wﬁ? 71 faiy

U e 8

« (Option ID = 147214 )

News group/=qsi YU

« (Option ID = 147215)

Designing[%ﬁ'[ﬂ'ﬁﬂ

« (Option ID = 147216 )
E-mail/$-3d

« (Option ID = 147217)

?

ChatRc

Option ID :-0Correct Answer :-(Option ID = 147215) Designinglﬁ'ﬁlﬁﬁ“

9)

Question ID :- (Question ID = 51832 )

Question Description :- HP12_ COMPUTER_SET3Q7

Question Stimulus :-

Which is not a font style?/ 19 # ¥ ®19 & i< WIgd 781 82

« (Option ID = 147190 )

Bold/ 9Ice

« (Option ID = 147191 )

Superscript/ U f&pg
« (Option ID = 147192)
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Italic/ ST

e (Option ID =147193)

Regular/ w

Option ID :-0Correct Answer :-(Option ID = 147191 ) Superscript/ JuX m
10)
Question ID :- (Question ID = 51834 )
Question Description :- HP12_ COMPUTER_SET3Q9
Question Stimulus :-
Bug means-/ d J a1 -
e (Option ID =147198)
Logical error in a program/ oy o Udh arfbs gﬁ'
e (Option ID =147199)
Difficult syntax error in a program/ I o Udh i T P '3’%
e (Option ID = 147200 )

Documenting programs using an efficient documentation tool/ T H&H E—ﬁﬂﬁ%ﬂ? cd
WY STFgATET wm ® SuEiT | St @

« (Option ID = 147201 )
All of the above/ SURIFT Tt

Option ID :-0Correct Answer :-(Option ID = 147198 ) Logical error in a program/ o o Udh

difee Ffe

11)

Question ID :- (Question ID = 51828 )

Question Description :- HP12_ COMPUTER_SET3Q3
Question Stimulus :-

Which one of the following medium is portable and inexpensive but has its own limitations

in term of storage capacity and speed? | e & | T A1eId Ndad GﬁTW%W
RS 3R wits & Ty | 3@ Ut Hiur 32

e (Option ID = 147174 )
Hard disk/gTs &%
« (Option ID = 147175 )

Compact disk/prige feve
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e (Option ID = 147176)
Optical disk/3(TTPHd &3
e (Option ID = 147177)
Floppy disk/Fardl f&vw
Option ID :-0Correct Answer :-(Option ID = 147177 ) Floppy disk/TITd f$Tm
12)
Question ID :- (Question ID = 51831)
Question Description :- HP12_ COMPUTER_SET3Q6

Question Stimulus :-

If a computer provides database services to other, then it will be known as:/ Tlﬁ Udh W
et 3 Huger o1 ST VAN S T § a9 98 Hadrdl o

e (Option ID = 147186 )
Web server/ 3§ 9dR
e (Option ID =147187)
Application server/ Q‘Eﬂaﬂ{ﬁ 4T
e (Option ID =147188)
Database server/ STeT 99 Hd<
e (Option ID =147189)
FTP server/Th A fadw
Option ID :-0Correct Answer :-(Option ID = 147188 ) Database server/ SIcCl T IR
13)
Question ID :- (Question ID = 51835)
Question Description :- HP12. COMPUTER _SET3Q10
Question Stimulus :-

The algorithm in which we allocate memory to each process according to its size is known

as:/ Fer ¥ 59 Sreviifvu d 1109 31 SUS 9159 & AR AART 3mdfed o1 o 6-
« (Option ID = 147202 )
Proportional allocation algorithmfu'cﬁ?(l:l?[ SATPR SAATRYH
« (Option ID = 147203 )

Equal allocation algorithm/g&d AP AANRYA
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e (Option ID = 147204)
Split allocation algorithm/ f&e @B ANRYA
e (Option ID = 147205)

None of the above/ 3URIad H | iﬁ'&‘ EHi

Option ID :-0Correct Answer :-(Option ID = 147202 ) Proportional allocation algorithmf‘;l'lﬂ'El'IT-I?[

JATHR ATRYH

14)

Question ID :- (Question ID = 51830 )

Question Description :- HP12 COMPUTER SET3Q5
Question Stimulus :-

Verificat%m of a login name and password is known as: AR T4 3R UrIaS &1 ST
hedldl &-

e (Option ID = 147182)
Configuration/ PP
e (Option ID = 147183)
Accessibility/ Qﬁﬁlﬁﬁf{
e (Option ID = 147184)
Authentication/ 3fTAfeh=
e (Option ID = 147185)
Logging in/ ATRRT L)
Option ID :-0Correct Answer :-(Option ID = 147184 ) Authentication/ 3TAfeH=M
15)
Question ID :- (Question ID = 51836 )
Question Description :- HP12_ COMPUTER_SET3Q11
Question Stimulus :-

What is meaning of FORTRAN?/WIC - HgdTdl 8-
e (Option ID =147206)

Formula trainl’q"l'li?ﬂ 37-[

e (Option ID = 147207 )

Formula translation/®THdT ¢iaARM
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e (Option ID = 147208 )
Formula train networqu?ﬂi?ﬂ aT-I dedd

« (Option ID = 147209 )

Formula translation network/BTH@T AR Acad
Option ID :-0Correct Answer :-(Option ID = 147207 ) Formula translationI'CI'TFiFIT gmﬁvm

Topic:- General Aptitude
)

Question ID :- (Question ID = 51935)

Question Description :- HP12_ GENERAL APTITUDE_SET4Q14

Question Stimulus :-

Rohan is 7t to the left of Akshay in a row of boys. Vijay, who is 20" from the left end of the
row is 7! to the right of Akshay. If Geet who is 3" to the right of Rohan is 20 from the right
end of the row, how many boys are there in the row?/ ﬁ%ﬂﬁﬁ@ﬁﬁ ﬁﬁ ar&ma?am
QT I R B 1 Rror, S U & aTE Bk & SId R W 2, T8 946 P a1Y @ aed '

W 21 Tfe M, St e F aTE & A VI R 8, 98 Ui F &Y SR @ s ™E R E, @
ife § oot faa asd &7

e (Option ID = 147602 )

26

e (Option ID = 147603 )
30

e (Option ID = 147604 )
28

e (Option ID =147605)

Cannot be determined/3ITd H‘eﬁﬁﬂﬁ Sfl b dl
Option ID :-0Correct Answer :-(Option ID = 147604 ) 28
2)

Question ID :- (Question ID = 51933 )
Question Description :- HP12_ GENERAL APTITUDE_SET4Q12

Question Stimulus :-

At what time between 8’0 clock and 9’ O clock will the hand of the clock be together?/ 8 ol
T 9 F9 & A YS! B GAI (b JHT TH ATY §II1?

« (Option ID = 147594 )
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e

7

421 minutes past 8/8 TSP 4211 fiFe W)

e (Option ID =147595)

43 minutes past 8/8 TTPY 4311 fiFe W

« (Option ID = 147596 )

40! minutes past 8/8 do[hR 401 e W

e (Option ID = 147597 )

4111 minutes past 8/8 TSI 4111 fiFe W)

7

7

7

7

7

7

7

7

GET IT ON
Google Play

7

Option ID :-0Correct Answer :-(Option ID = 147595) 4311 minutes past 8/8 dulh PREER T ol by

3)

Question ID :- (Question ID = 51928 )
Question Description :- HP12_ GENERAL APTITUDE_SET4Q7

Question Stimulus :-

DIRECTIONS: In each of the following questions, choose the set of numbers out of the four

options that is similar to the given set. fﬁ%‘«’r: ﬁ'E 1Y T U § IR fopeai 4 9 Udh

BTl & TYE BT T4 D3 ol fT 7T TYg & THH &l |

(12, 5, 7)

« (Option ID = 147574)

(7,

e (Option ID = 147575)

3, 4)

(18, 12, 16)

« (Option ID = 147576 )

(29, 18, 22)

e (Option ID =147577)

(25, 12, 16)

Option ID :-0Correct Answer :-(Option ID = 147574 ) (7, 3, 4)

4)

Question ID :- (Question ID = 51927)
Question Description :- HP12_GENERAL APTITUDE_SET4Q6

Question Stimulus :-
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In a certain code 'BROADEN' is written as 'NQABOFE'. How is 'DESKTOP' written in that
code? /f¥dt fAf¥a $< A 'BROADEN' ®1 'NQABOFE' forar iTdT 8| 31 $e # 'DESKTOP' &)
foa yepr fod?

e (Option ID =147570)
RDCLQPU
e (Option ID =147571)
TFELQPU
e (Option ID = 147572)
RDCJQPU
e (Option ID =147573)
EFTLONS
Option ID :-0Correct Answer :-(Option ID = 147570 ) RDCLQPU
S)
Question ID :- (Question ID = 51925)
Question Description :- HP12_GENERAL APTITUDE_SET4Q4
Question Stimulus :-

DIRECTIONS: These questions are based on continuous alphabet type, a letter series is

given which has some blanks, find the alternatives that complete the series.lﬁ%‘«’[ =
::-%R 9oft ¥, 5 S1eR I € 1l A T T 5l v fAweu s wa o § | el fawew &1 99+
I

ba-b-a--ba-b
e (Option ID = 147562 )
ababa
e (Option ID = 147563 )
baabb
e (Option ID = 147564 )
abaab
e (Option ID = 147565)
bbaab
Option ID :-0Correct Answer :-(Option ID = 147562 ) ababa
6)
Question ID :- (Question ID = 51926 )

Question Description :- HP12_ GENERAL APTITUDE_SET4Q5
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Question Stimulus :-

How many circles are there in the following figure?/ & TI'QF &I'Iip'ﬁ H fooam qd g7

e (Option ID = 147566 )
12
e (Option ID = 147567 )
13
e (Option ID = 147568 )
14
e (Option ID = 147569 )
1"
Option ID :-0Correct Answer :-(Option ID = 147567 ) 13
7)
Question ID :- (Question ID = 51929 )
Question Description :- HP12 GENERAL APTITUDE SET4QS8
Question Stimulus :-

A woman said to a man, “The daughter of your only sister is the sister of my husband’.
What is the relation of man’s sister to the woman?/U& 'FI'I%?IT C| D JoY 3 Dol “3(Tqepl
P g8 B At WX Ul B 989 37 | T3U Pt 984 BT AT & A1 T =Y 82

(Option ID = 147578 )

Mother/ 'Fff

(Option ID = 147579 )

Mother-in-law/dTH

(Option ID = 147580 )

Data inadequateléﬁ'ﬁ.' 3y

(Option ID = 147581 )

None of thesel?FI'l?f I ﬁé T-Iﬁ

Option ID :-0Correct Answer :-(Option ID = 147579 ) Mother-in-law/dTd
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8)

Question ID :- (Question ID = 51937)

Question Description :- HP12_ GENERAL APTITUDE_SET4Q16

Question Stimulus :-

DIRECTIONS: In the question, relationship between different elements is shown in the Statements.
These Statements are followed by two Conclusions. Read the conclusions based on the statements
carefully and choose the certain answer from the given options. Iﬁ%!{[ :ﬁ%ﬁ'l:{ RILCR K] ﬁ FYAI A S

3rqyal & i # T =T Tu § | YA F 15 e fog e § | B TR ST Pyt @)
HATYdP ufet 3R fod T & | vep fAfya 3w &1 9= Fifv |

Statements:/[®Y:
O>P>Q,R>S>T,R>Q
Conclusions:/fsHH:
I. S>Q
II. T>P
« (Option ID = 147610 )
If only Conclusion | foIIowsI‘qﬁ Had sy | ST BT %
« (Option ID = 147611 )
If only Conclusion li foIIowsI‘qﬁ *Haa fred 11 SIFH] hdl %
« (Option ID = 147612)
If neither Conclusion | nor Il foIIowsRJﬁ Jd e SR Hdl %
« (Option ID = 147613 )

If both Conclusions | and Il follow/afe G fepy TR Fed &

Option ID :-0Correct Answer :-(Option ID = 147612 ) If neither Conclusion | nor Il follows/afg =

ot frsw e | 9 1 SR FRaT B

9)

Question ID :- (Question ID = 51922)

Question Description :- HP12_GENERAL APTITUDE_SET4Q1
Question Stimulus :-

DIRECTIONS: In the question below, there are few statements followed by few conclusions.
You have to take the given statements to be true even if they seem to be at variance with
commonly known facts and then decide which of the given conclusion logically follow(s)

from the given statements. fﬁljcfSZT ﬁﬁqwmﬁwﬁwaﬁvmm
Mg | mmwﬁmﬁﬁwm%ﬁﬁamawﬁﬁﬁmmﬁasﬁﬁ |
Hmﬁwﬁaﬁmﬁwmaﬂm%ﬁqwﬁwﬁﬁﬁﬁqmmwﬁmm

2, 9T WayTd 9 oo W & |
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Statements:/[®Y-:
Some chairs are desks./[P® @‘ﬁh‘i, @W% |
All rooms are desks. Y} T:F'Fﬁ, %Tfﬁ% |
All windows are rooms./aHt @Sﬁﬂﬁ, W% |
Conclusions:/fTsHH:
I. All windows are desks./ Y} @Sﬁﬂﬁ, @REF% |
Il. Some desks are rooms./[P® @W, W% |
e (Option ID = 147550 )
If only Conclusion | foIIowsITIﬁ Had frepd | ST pRdT %
« (Option ID = 147551 )
If only Conclusion Il follows/df dad fFIspY 11 3FARUT HXdT §
e (Option ID = 147552)
If neither Conclusion | nor Il follows/Afe = fsd | 7 Il SFERYT HaT 3
e (Option ID = 147553)

If both Conclusions | and Il follow/afe g} fepY SFEIUT HXd &

Option ID :-0Correct Answer :-(Option ID = 147553 ) If both Conclusions | and Il follow/af¢ &1

frepd srgaRur Hd €

10)

Question ID :- (Question ID = 51936 )

Question Description :- HP12_ GENERAL APTITUDE_SET4Q15
Question Stimulus :-

A cube of edge 8 cm is painted blue from all its faces. It is cut into small cubes of surface
area 24 cm?2. How many such cubes shall have two faces painted?/d® 8 I+ Yt & U9 BI

At Borepl W E1 T | R g 24 A2 gt fAwa & ftrean B uHl H Hrer W | Bl
w1 A | faa o & o T g
« (Option ID = 147606 )
96
« (Option ID = 147607 )
24
« (Option ID = 147608 )
48
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¢ (Option ID = 147609 )
12
Option ID :-0Correct Answer :-(Option ID = 147607 ) 24
11)
Question ID :- (Question ID = 51930 )
Question Description :- HP12_GENERAL APTITUDE_SET4Q9

Question Stimulus :-

DIRECTIONS: Arrange the following words according to the English Dictionary./fAqgr: 3iUsft
UKD & VR, = =] & afRya a3

(A) gargle (B) garden (C) garbo (D) garnish (E) garland
« (Option ID = 147582 )
(B), (C), (D), (A), (E)
« (Option ID = 147583 )
(C), (B), (A), (E), (D)
e (Option ID = 147584 )
(C), (B), (D), (E), (A)
e (Option ID = 147585)
(D), (C), (B), (A), (E)
Option ID :-0Correct Answer :-(Option ID = 147583 ) (C), (B), (A), (E), (D)
12)
Question ID :- (Question ID = 51924 )
Question Description :- HP12_ GENERAL APTITUDE_SET4Q3

Question Stimulus :-

What will come in place of question (?) mark in the following series ?/fAT 9l § UaTE®
e (?) & RIF W= T T2

DHL, PTX, BFJ, (?)
e (Option ID = 147558 )
CGK
e (Option ID = 147559)
KOS

« (Option ID = 147560 )
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NRV
e (Option ID = 147561 )

RvVZ
Option ID :-0Correct Answer :-(Option ID = 147560 ) NRV
13)
Question ID :- (Question ID = 51931)
Question Description :- HP12 GENERAL APTITUDE_SET4Q10
Question Stimulus :-

Rana travels 10 km North, turns left and then travels 4 km and then turns right and covers
another 5 km, he then turns to right-hand side and travels another 4 km. How far is he from

the point of starting of his journey?RT0TT 10 f&fl IR 1 SR ITT vl 7, T FSa1 3 R
T 4 forult &Y g Fear B SR e gI¢ g1 3 o 5 fl 91 g au Fwar 7, S90S 91¢ 98
9 g7y F RE gedr 2 3R 4 frelt g war @ | 3w amET & URMRe ' A 98 fea!

W E?
e (Option ID = 147586 )
5 km
e (Option ID = 147587 )
4 km
e (Option ID = 147588 )
15 km
e (Option ID = 147589 )
10 km
Option ID :-0Correct Answer :-(Option ID = 147588 ) 15 km
14)
Question ID :- (Question ID = 51938 )
Question Description :- HP12_GENERAL APTITUDE_SET4Q17
Question Stimulus :-

At a certain film festival, eight films will be shown J, K, L, M, N, P, Q, and R. The order of the
showings must meet the following conditions/f3dt fber m? H 3 fhed JK,L,M,N, P,
Q dYT R fe@rE it | fber faa@ &1 5w A9 8-

N is shown immediately before L / N, L & gid Ugd fe@ms 75
J is shown third/ J TR R ®IF R fe@rE 18
Q is shown fifth/ Q UTed TIF R f¢@rg T8
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If N is shown immediately after P, then P could be shown?/3iR N, P %73'\5?[313 ﬁEﬁ"ﬂé?ﬁ

P B9 | WIH R s s

« (Option ID = 147614 )
Third/dRIR

« (Option ID = 147615 )
Fourth/NY

« (Option ID = 147616 )
Fifth/aied

« (Option ID = 147617 )

Sixth/&ad

Option ID :-0Correct Answer :-(Option ID = 147617 ) Sixth/&&d
15)

Question ID :- (Question ID =51932)

Question Description :- HP12_GENERAL APTITUDE_SET4Q11
Question Stimulus :-

One morning after sunrise, Reeta and Kavita were talking to each other face to face at Tilak
Square. If Kavita’s shadow was exactly to the right of Reeta, which direction Kavita was

facing?/U® JaE GUIGd & UTd, Il 3R Hfaar faas a1 W TP gAY 3t R & $P
MU H 919 = Bl A | afe Hfaar & wors a1 & S ars S , d wfaar fea fezm
®1 3R @ frd gu @7

¢ (Option ID = 147590 )
North/3<R

e (Option ID = 147591 )
South/gf&or

e (Option ID = 147592)
Eastf‘l‘qc

e (Option ID =147593)

Data inadequatelm g
Option ID :-0Correct Answer :-(Option ID = 147590 ) North/3<X
16)

Question ID :- (Question ID = 51923 )

Question Description :- HP12_GENERAL APTITUDE_SET4Q2
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Question Stimulus :-
DIRECTIONS: In the question below, there are few statements followed by few conclusions.

You have to take the given statements to be true even if they seem to be at variance with
commonly known facts and then decide which of the given conclusion logically follow(s)

from the given statements. rﬁ%}!a ﬁﬁquﬁwwwaﬁmm

Mg | mmwﬁ$uﬁﬁwnm%ﬁﬁ%mma@ﬁﬁmmmﬁ |
T} fFrepul 3 ufen b aa Hifore f 3w e At & Q HI9 1 ahwiTa 3 A SHR0T Hdl
g, IR Jdgd aa po Wl |

Statements:/[®Y:
Some cars are wheels./[®® PR, LY g
All wheels are branches. A4} U'%Q, @W% |
Some branches are tins./$9 STﬁ'l'Cli fea % |
Conclusions:/ fAsa:
I. Some cars are branches./$9 PR, siferar & |
Il. Some tins are branches./®9 ﬁ?, STI%I'QT'% |
e (Option ID = 147554)
If only Conclusion | followsl'Clﬁ' Had fAsmd | ST HdT %
e (Option ID = 147555)
If only Conclusion li foIIowsI'CIﬁ Fad frspy I S0 H AT %
e (Option ID = 147556)
If neither Conclusion | nor I followsl'CIﬁ' Ffssd 191 ST BT %
e (Option ID = 147557)
If both Conclusions | and Il foIIowI'CIﬁ ﬁﬁ e SIERUT Hd %

Option ID :-0Correct Answer :-(Option ID = 147557 ) If both Conclusions | and Il followrafe gl

s SrqERU Hea &

17)

Question ID :- (Question ID = 51934 )

Question Description :- HP12_GENERAL APTITUDE_SET4Q13

Question Stimulus :-

If 29th April 2013 is Monday then what is the day on 30" November 2013?/4f¢ 29 31U 2013
@1 YIHAR ? d1 30 TdaR 2013 B B T {3 g2

e (Option ID = 147598 )

Satu rdayfk’l‘ﬁlﬁT\r
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« (Option ID = 147599 )
ThursdayR[edIR

« (Option ID = 147600 )
Tuesday/HITedR

« (Option ID = 147601 )

Monday@'ﬂﬂﬂ

Option ID :-0Correct Answer :-(Option ID = 147598 ) Satu rdaymﬁaﬂ
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